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Attempt any five questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Why Graphite is used in the Pencil?

What is corrosion? State the factors affecting rate of corrosion.
“Blood is a buffer solution”, Explain.

Pure Iron is corroded in moist air while stainless steel is not corroded. Why?
Define: Conductivity and Specific Conductivity.

Why Gold is used to make Ornaments?

Define: Flash point and Fire point.

What is calorific value of fuel?

Define: Polymer and Polymerization.

Name any four Synthetic rubbers.

Write any five importance of Hydrogen bond.
OR

Give the Characteristics of lonic compound.

Define PH. Write importance of PH. Calculate PH of 0.003M HCI solution.
OR

What is Buffer solution? Give its importance.

Explain Catalytic Promoter and Catalytic Inhibitor with example.
OR

Give five examples of Industrial application of Catalyst.

Give construction & working of Standard Hydrogen Electrode with sketch.
OR

Explain Construction and Working of Electro chemical cell with sketch.

What is Atmospheric corrosion? Explain mechanism of atmospheric
corrosion.

OR
Discuss Anodic and Cathodic protection against Corrosion.
Distinguish between Primary cell and secondary cell.

OR
Distinguish between Metallic Conductor and Electrolytes.
What is Electro chemical series? Give its significance.

OR
State Faraday’s laws of Electrolysis. Give its importance.
Explain Construction and Working of Dry cell.

OR
Explain Construction and Working of lead-acid storage cell.

Define Lubricant. Give Function of Lubricant.
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OR
Classify lubricants and give two examples of each.
Which lubricant you will select for Cutting tools?
OR
Which lubricant you will select for Steam turbine?
Answer the following questions
(1) What are the merits & demerits of solid, liquid and gaseous fuel?
(2) What is Octane number? How octane number of gasoline is improved?

Answer the following questions
(1) Distinguish between Thermoplastic and Thermosetting plastic.
(2) Define Insulating material. Give its type. State the characteristics of
Insulating material.
Answer the following questions
(1) Write the drawback of Natural rubber. Discuss the process that
increases usability of natural rubber.
(2) Write a short note: Hydrogen gas as a fuel.
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